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Electrical Machines ENEE 2408

Short Exam # 2 (10mins)
Student Name: ID: October 29, 2024
A 100 kVA, 3300/400  distribution transtormer has the following resistances and reactances:
R, =10Q " Ry=0.02Q
X =150 X =0.03Q

Rec =200 kQ XM =30kQ

The excitation branch impedances are given referred to the high-voltage side of the transformer.

a) Find the approximate equivalent circuit referred to the low voltage side

b) Assume that this transformer is 'supplying the rated load at 400V and 0.85 PF lagging,
use the approximate equivalent circuit to find the transformer’s input voltage

c) What is the voltage regulation under condition b)?

d) What is the efficiency of transformer under the condition of b)?

e) Draw the phasor diagram of voltages and current under the condition in b)
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